






Name   _______________________________                                         

GRAHAM'S, BOYLES, CHARLES, COMBINED GAS, DALTON WORD PROBLEMS

____________1. A gas sample occupies 280 cc at 27 oC  and a pressure of 780 mm Hg.  Find its volume at 0 oC and a pressure of 780 mm Hg.

____________2. 1500 cc of gas at 770 mm Hg pressure is compressed to 1540 mm Hg at a constant temperature.  Find the new volume of the gas.

____________3. 350 cc of gas 47 oC is heated to 88 oC at a constant pressure  Find the new volume of the gas.

____________4. A sample of gas at 20 oC and 750 mm Hg is heated to 52 oC while the volume is held constant.  Find the new pressure of the gas.

____________5. The volumetric analysis of a sample of gas leaving a smoke stack is as follows:  10.8% ____________CO2; 2.2% CO; 4.5% O2; 82.5% N2  The pressure of the gas sample is 1250 mm Hg.  Find ____________the partial pressure of each of the gases.
____________
____________6. 250 cc of gas is collected at 28 oC and 740 mm Hg.  Find the volume of the gas at  STP. 

____________7. A gas occupies 330 cc at standard conditions.  Find its volume at 22 oC and 2.5 kPa.

____________8. 200 cc of gas is collected over water at 24 oC and 767.4 mm Hg.  Find its volume at standard conditions when dry (check water vapor chart).

____________9. How much faster will helium diffuse than fluorine?

____________10. An aerosol spray at room temperature 25 oC, is under a pressure of 20 atmospheres and volume = 0.15 L.  If the contents fill an empty 4.6 L box at standard pressure, what is the temperature of the contents? 

____________11. In the Van Slyke method for determining the CO2 capacity in blood, you place the sample over mercury in a closed flask.  CO2 is released from the sample by the addition of acid.  The volume and pressure of the released gas is then measured.  In a 0.2 ml sample of blood, the CO2 released exerts a pressure of 162 mm Hg at a temperature of 27 oC and occupies a volume of 1.5 cc.  What is the corresponding volume of CO2 at STP?

____________12. When J.F. Piccard made a stratosphere flight in a balloon, the balloon seemed to be only half filled as it left the ground near Detroit.  The gas temperature was about 29 oC, the pressure 740 mm Hg, and the volume of the gas in the balloon was 2.26 x 106 L.  What was the volume at high altitude where the temp was -5 oC and pressure 400 mm?

